
THERMAL TRANSMITTANCE (UT) CALCULATION 
(Calculation according to EN ISO 10077-1:2006, 10077-2:2006) 
 

 
The following equation is used to calculate the total thermal transmittance (UT) for a window (UW) or door (UD). 

 

𝑈𝑇 =
[Σ(𝐴𝑔𝑈𝑔) + Σ(𝐴𝑓𝑈𝑓) + Σ(𝐿𝑔𝜑𝑔)]

(Σ𝐴𝑔 + Σ𝐴𝑓)
 

 

 

 

CALCULATION EXAMPLE: (Standard glazed building element according to EN ISO 14351-1:2006+A1:2010) 

 

 

 

 

 

 

 

 

𝑈𝑇 =
[Σ (1.39𝑚2 ∗ 1.1

𝑊
𝑚2𝐾°

) + Σ (0.43𝑚2 ∗ 2.7
𝑊

𝑚2𝐾°
) + Σ (4.74𝑚 ∗ 0.057

𝑊
𝑚𝐾°

)]

(1.39𝑚2 + 0.43𝑚2)
= 𝟏. 𝟔𝟐𝟔 

𝑾

𝒎𝟐𝑲°
  

 

𝑈𝑇 =
[Σ (14.96𝑓𝑡2 ∗ 0.194

𝐵𝑇𝑈
ℎ𝑟𝑓𝑡2𝐹°

) + Σ (4.63𝑓𝑡2 ∗ 0.475
𝐵𝑇𝑈

ℎ𝑟𝑓𝑡2𝐹°
) + Σ (15.55𝑓𝑡 ∗ 0.033

𝐵𝑇𝑈
ℎ𝑟𝑓𝑡𝐹°

)]

(14.96𝑓𝑡2 + 4.63𝑓𝑡2)
= 𝟎. 𝟐𝟖𝟔

𝑩𝑻𝑼

𝒉𝒓𝒇𝒕𝟐𝑭°
 

EQUATION VARIBLES:  SI  Units English Units  

AT    Total Unit Area m2  f t2  
Ag    Total Visible Glass Area m2  f t2  
A f    Total Frame Area m2  f t2  
Lg    Total Perimeter of Visible Glass m ft 
Ug    Thermal Transmittance of Glass W/m2*K⁰  BTU/hr*ft 2*F⁰  
U f    Thermal Transmittance of Frame W/m2*K⁰  BTU/hr*ft 2*F⁰  
Ψg    Linear Thermal Transmittance of Glass W/m*K⁰  BTU/hr*ft*F⁰  
  (Combined thermal effect of glazing, spacer bar and frame)   

VARIBLE CALCULATIONS:  SI  Units English Units 

AT  = 1.23m x 1.48m 1.82m 2  19 .59f t 2  

Ag  = (1.23m – (0.085m x 2)) x (1.48m – (0.085m x 2)) 1.39m 2  14 .96f t 2  

A f  = AT – AG      1 .82m 2  -  1 .39m 2  0 .43m 2  4 .63ft 2  

Lg  = 2 x [(1.23m – (0.085m x 2)) + (1.48m – (0.085m x 2))] 4 .74m 15.55f t  

Ug  = Predetermined Value 1.1 W/m 2 *K⁰  0.194 BTU/hr*f t 2 *F⁰  

U f  = Predetermined Value (Test Method Ref. EN ISO 12567-1) 2.7 W/m 2 *K⁰  0.475 BTU/hr*f t 2 *F⁰  

Ψg  = Predetermined Value 0.057 W/m*K⁰  0.033 BTU/hr*f t *F⁰  

3-3/8”   
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41-3/4” x 51-5/8”     

(1060mm x 1310mm) 

48-7/16” x 58-1/4”     

(1230mm x 1480mm) 
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